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Nots @ Four possible choices & ,B,C,D to each question are given. Which choice is carrect, fill that circle in front of that question
number. Use marker or pen ink to fil} the circles. Cutting or fliling two or more circles will result In zero mark in that question.

(a+b)-(a-b) =114

a* + b2 (D) -4ab (C) 4ab (B) 2(a° +b%) (A) )
If P(x)= -2 +5x+1,then P(1) =7 : L P P(x) = - w51 S| (@)
5 (D) 0 (C) -5 (B) -7 (A)
A Cubic Polynomial is of degree : f et G Gl (9)
3 D 2 (O 1 (B 0 (A
An Irrational Number that contains Radical Sign is called : ‘at'l.kf ol § ek 1w P S @
Natural Number (.4 (D) Rational Number 1Pt (C) Surd (Wi (B) Mixed Surd (umﬁ' (A)
The number of methods to find H.CF. are : Dt &-}&L].”:"" rym‘ (5)
4 MO 3 © 2 ®» 1 (@A
A Linear Equation in One Variable is of Degree : Coebr ¥ .:,bvuk" AL (6)
0 (D) 1 © 2 (B 3 (4 .
The Solution Set of |x - 3 |= 5 s : Pedrf ¥ x-3[= 5 (7

{-2-8} @ {2-8}© {-2,8} ® {298}

Cetbeb S ed M xms (B)
For each number " x " , the absolute value of " x " is denoted by :
0 @ x| © -x (B x (A

: .;....b:d’l(x2+2x+1=0 9)
{1,1} m {o}©o {1.-1} ® {1} W

Solution Set of x2 +2x+1 =0 is

A Straight Angle contains :  %0° (D} 180° (C) 270° (B} 360° (A) PR 4 (?‘;,u (10
Points lying on the same line are called : : u“-‘z.llz( b éb LB 4 (11)
Zero # (D) Equal (i~ (C) Non - Collinear Hr’f/f (B) Collinear 5 (A)
A Matrix consisting of One Row is called : : cl_t'lh( n B LIRS M (12)
Column Matrix /¥ (B) Row Matrix BB (A)

Scalar Matrix J5A° (D) identity Matrix .,JWJUQ/" ©

et S B L S A 2 B AL g A (13)
A line Coplaner with a circle and touch the circle at one point only is called

Tangent Line W (D) Normal Line 2/ (C) Altitude LU/ (B) Median ks (A)

Area of a Triangle when all the Three Sides are given is: : Unpl ([l Jewst uFL2 3w esr ! (14)

Vs(s-a)s-b)s-¢) O 222 ¢ Lon g obh (a)

In Matrices (AB)'1 =17 : (AB)’1 =7 &L ks (15)
AB (D) 8 A © B (B) A (A)
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Note : It is compuisory to attempt (6 -- 6 ) parts each from Q.No.2, 3 and 4 and attempt any {03) questions
from Part Il. Write same Question No. and its Part No. as given in the question paper.

J6=2x18 E {(Partl) L)JL" H | Make diagram where necessary. _ufl.‘szndz;/‘uyz J

3
Simplify. Sy —éfy (i) 2/-.’U'r

() LR =-273m t=3 4 P(r)=2Kr f (i)

If P(r)=2Rr  then find P(r)for r =3and X = 2
Define Pure Surds. _é_;_f/‘? J "L/JG-J" b (iii)
Factorize, 5ym + 15yn + 2zm + 6zn -.’:‘_’; J f. (iv)
Factorize. x2+2xy + yz- 4” -éd/; )
If P(x} = 2x° - 5x°+7x-7 then find P(2) “Zpd PP (x) = 2O-5x2 +7x -7 A (vi)
Find H.CF. 14a%bc , 21ab? gl Hhl wip
Define L.C.M. g/ o o
Find LCM. 12p°q% , 8p°qr’ , 4p2q’r Z ek Fiskans an
Solve 3(x+3)= 14 +x ZEL S 3(x+3) = Wrx (i) 34U
Solve., ix+1 =3 -éd’ (ii}
Solve. {x+1] =5 LEEL i)
Solve. 2x2 = 3x _éd' (iv)
Solve by Factorization. X - 6x+5 = 0 -.’-_‘_{ S df ik (V)
Solve by Factorization, X2 = 8.-7x -é J df.. Hrk {vi)
Define Rectangular Matrix. _é._i_y’ g Jb‘uﬁky (vil)
Define Diagonal Matrix. Ay g AT i)

: 8
f it e JEstAY T A = [: 9] S )

3 8
If A = [ 49 :l whether A is Singular Matrix or Non - Singular Matrix ?

Define Polygon. -é..gj."gf T4 W) 440
What is meant by Central Angle? el e M @)

baihaid gy 5L W aem 400 Gib

Draw a Semi - circle with Diameter 4 cm and Center at "O".
What is meant by In-Center of the Triangle ? festrl o Ir Lok (v)
3.5cm = () ¢ 18cm = w@'fﬁéﬂ”_})b’:ﬁ- )

Find the Area of a Triangle whose Base = 18 cm, Altitude = 3.5cm

Define Pythagoras Theorem. _é_&_f}"- J auflis vi)
Define Collinear Points. 2§ 1A i
Find the Distance between two points : A(-1,3),B{-2,-1) : ép”ﬂ—'ﬁ e £ b o (vil)
Write down the Angles marked with Letters. _é(}"' u_""‘g J Uyl U}ﬁw == (f,..i;/ (ix)

A
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4 ab= -5 » a-b =4 .c" E-Lfr'}“'c:«-f Jas- b3 (=) S/Jdlf
Find the value of a3- b3 when a-b = 4 and ab = -5
(4) Factorize. Bx - 6x - 9y + 27y3 -Z-fdf ()

) (x2-7x +12)(x%-9x +20)(x>-8x+15) ;& gyl 3a () 64w

Find the Square Root of : (x2-7x +12 ) X% - 9x +20 N x2-8x+15)

(4) Solve. “%'(2"‘)>%(3-X) +—;" 2 S )
4) Zotlx - 26= 0 A e wt LB ) 1Ay

Solve by Completing the Square Method. X -11x - 26 = 0

@ | un KOE 3 e § B L LE D ()

Construct a Rectangle whose adjacent sides are 4cm and 3 em.

-4y =7 .
(4) Solve by Matrix Inversion Method. 3x-4y .-éd'c:..‘&)’ L A u’;" () 8/'.Ulr

5x-7y =12
@ A v [ 1]7] - [R] 4@
If [; :][l,;] = [33 then find the value of 'a'and 'b'

@ EP LS I K 4 K 5Pt W S & S e 2E 0 AT () oA
Capacity ofv a tank is 60 Ki.If the length,breadth of the tank are
respectively Sm and 4 m then find its Depth.

@ LS C(-1,5) o B(-4,-3), A(2,-5) b6 SZE et ()
Show that the points A(2,-5),B(-4,-3) and C(-1,5) are of

an Equilateral Triangle.
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Note : Four possible choices A,B,C,D to each questlon are given. Which chaice is correct, fill that clrcle infront of that question
pumber. Use marker or pen ink to fill the circles. Cutting or filling two or more circles will result in zero mark In that guestion.
A point in 4th Quadrant has its Ordinate L et 23T WO U B g 1A
1 (D) Zero M (C) Negative (* (B) Positive =t (A) 4y
Area of a Square with side "S " is : Dok s é" ¥ Sere
4 D) 25 (© S (B) S° (A)
The number of Angle Bisectors in a Triangle is ool et Ot b k] (3)
) 3 © - 2 (B) 1 (A)
A Triangle with no equal side is called : : q_alhf o2 At d" Jf ¥ Ur el (4
Right Angled _s1/124F (15) Scalene {Weiioi¥ (C) Equilateral {usvifol~ (B) Isosceles u.;f Uil (A)
In Matrices (AB)} = 7 : Al o A'B' B ® A 4 : (aB)f=2 ZZuk! (5)
LW Un U OB o Ep £ AT 0] (6)
Two Matrices with same order and equal corresponding elements are called
Unequal (il+# (D) Square (7 (C) Diagonal §» (B) Equal (i~ (A)
Solution Set of x> -5x +6 = 0 s ' : @d{d’b’xz-Sx+6=0 7
{2,3} @ {-2,-3}© {3} ® {2} @
The number of Techniques to solve a Quadratic Equation ate : uj‘é}&L[J’ £ eblafn s (8)
i (D) 3 (© 2 B 1 (A
The Solution Set of |x + 1|= 5 is : | Ceenf ¥ xr 1= )
{-a6} O {a6}© {a.-6} ® {46}
The Symbol g stands for : {—-3/ﬁw £ (10)
Greater than or Equal to & si¢{l%c (B) Less than b (A)
Equal to ¢ 4l L (D) Less than or Equal to sz L = (O
HCF. of 6pgr,15qrs is : © e k¥ 6pgr, 15qrs] (11)
3qr (D) 3pqr (C) J3pqrs (B) 15pqgrs (A)
Gnedf P(a) P e b Ui a B x-a B F & 21 ¢ ARG A (12)
If a Polynomial P(x) of Degrée n »1 is divided by Polynomial ' x - a' where 'a' is any
constant , then P{a) is : a (D) 1 {C} Zero  (B) Remainder Jl_, (A}
A Linear Polynomial is of degree : : bt o0 (?J/:( Gus L] (13)
3 O 2 © 1 (® 0 (A
The number of terms in b5xy is : : ;.)!ﬂJrLu‘.!Sxy (14)
5 (@ 3 (© 2 (B 1 (A
Sebd D (a-b)° © (a+b) B -B (A . (a+b)(al-ab+b%) = 2! (15)
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Note : It is compuisory to attempt {6 -- 6 } parts each from Q.No.2, 3 and 4 and attempt any (03} questions
from Part ll. Write same Question No. and its Part No. as given In the question paper.

36=2x18 H (Partl) dJL" H r Make diagram where necessary. LS P l

Define Improper Rational Expression. _é._gﬂ J EJ*I:.,.@I;/;"’ i) 2/1Ulr
If P(x}= et +3x2 +5x+1 then find P(-1). -ép‘v P(-1)¢ P(x} = adealesx+r A 6@
Solve. (x +2y )2 + (x -2y )2 -’éd’ (i)
Define Cubic Polynomials and give one example. ,Z.:'.':dlﬁ'..{l Al 4’.’..’-:._&/7 d/ L?J/.?/ db.?/:uf- @iv)
Factorize. ax + ay - xz-xy -’é;df.” )
Factorize. x3y3 + 23 ..édf (vi)
Define Least Common Multiple { L.C.M.). ..:’é..e!ﬂ J J’.l._il;bl';j (vii)
Find H.C.F. by Factorization. 14a’be , 21ab> -é{#ﬂ)b{.ﬁ&dﬁ- (viil)
Find the Square Root by Factorization. 49x2+112xy +64y2 -a,{ph‘ ded i L dy." (ix)
Write down Order relations or Inequality Symbols. -'4’6 b Ui J u?bi//:f | elidad WA (D) 3/:’1)!;’
Solve . {x+1 =3 (i)
Solve. x+3 <7 -2 i)

Write Standard Form of the Quadratic Equation in One Variable. -2.46 O AYEY R SN - 2 vy

Solve, (2x + 3)(x-2) = 0 ZSf
Solve by Factorization. 6x2- 19 -7 = 0 ‘ -Z:J' d‘j.’.f;fy (vi)
Define Scalar Matrix, : s Jﬁ'/-lfc {vii)

-ﬁ'{r}‘" B+A s B =[4 7} ¢ A =|:1 53] f,(vli)

6 5 4
RER a7
A =1, 5B T|lg s then find B+ A.

Find the Matrix Product, [2 5][12 '31] -2":’(}’" AN e § UK (iX)
Define " Tangent to the Circle". -5..&1/'" J WK (i) 4
Define Supplementary Angles. sl Ly )
Define Quadrilateral, ZEws § Az i
Define " Centroid of the Triangle". -é.__y /"’ J "B f/ ¥ adh 0 (iv)

€ 6 U € Pl s v)
Draw an Equilateral Triangle with length of each side 6 cm.
¢ o b s Nef o FUn3em, bem, Sem U QUL Ak S i)
If the Sides of Triangle are 3cm,4cm and 5em , is this Triangle will be a Right Triangle ?
e KT 18 Qg 2ET 20000 § S Zeka v S i
Find the Area of Rectangle 200 cm long and 18 cm wide.

Find the Distance between the given points.  (-1,3),(-2,-1) -ér,hd-uuw L w:é;;, (vil)
Define Collinear Points. -’:‘:',’\_y/:" g Llﬁb{f {ix)

2
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@ el § R g x = VT VT (O sy

X

. 1
If x =V3~J2 s then find x2+—-2-=?
X

(4) Resolve into factors. x2 + xy + y2- a2 o &l L5/‘ 27 (o)
(4) Find HCF. by factorization. | e Shan e () 64Uy

2%+ 3x+ 1, 2+ 5x + 2, 2xP-x - 1

3x+4 1
(4) Solve. x5 - x; > 1- x;5 gd’ ()
(4 10x2 - 5x = 15 E{J’ & L4 d/ JJ.J: » () 1)

Solve by using Quadratic Formula. 10x% - 5x = 15

@ ikt b St Url L ndem QWS E5 L e L. (L)
Draw a Circle passing through three vertices of an equilateral triangle with

length of eachside 4 cm.
- 3 ,
@ RN O, Syt x M [x; 3},_14} = [‘; 21] A 840y

) ) x+ 3 1 - 12 1
Find the value of x and y if li .3 3y_4:, [_3 2]

' 3x-4y = 7
(4) Solve by Matrix Inversion Method. Bx - 7? -12 -2-’:(}’:_."4) L A u’:‘" ()

@ e B LI R Bar ALK S E U S () 9o Ay

Calculate the Radius of a Sphere of Volume 850m>. Take X = -2.-72

) U o adbosidiaty L1C(0,-2) s B(3,-2), A(0,2) 46 SZ et (L)
Show that the points A(0,2),B(3,-2)and C(0,-2) are the vertices

of a Right Triangle.







